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Note: (i) There are inall 17 questions in this question paper. All questions are compulsory.
(i) Question No. 1 is multiple choice type. Question No. 2 to 6 are definite answer type.

Question No. 7 10 11 are very short answer type, Question No. 12 to 14 are short answer
type and question No. 15 to 17 are long answer type.

(ili) Marks allotted to the questions are mentioned against them.

Tgladaiy g™

( Multiple Choice Type Questions )

1. Wuﬁa%mw%mﬁmﬁamﬁqw%mﬁﬁmm:ﬁw—gﬁm
4 fafan —

(®) T &1 fodfra g3 & - | 1
(i) LT (i) MLT?
(i) MT? (iv) mL™
(@) AFvE AP $T ATadBTA JAT & — 1
() 1 Jpvs (i) 2 JPvs
(iii) T (iv) orTa
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(i) 746 (i) 420
(i) 980 (iv) 331

(&) T8l A, ATYRT p TAT TRT AT o WA WY T — 1
(i) n=va G) A=nov
(i) v=nA (iv) nva=1

(¥) & OR & R R 10 diee &1 fvaaR &= W Sud 2.5 TR & O a=d)
g1 AR &1 ufaser g — 1
(i) 250 1) 1250
(i) 0.250 (iv) 40

Four options are given in each part of question. Write the correct answer in your answer-book --

(A) The dimensional formula of Density is —

i LT (i) MLT™
(i) MT* (iv) ML™
(B) The periodic time of Second’s Pendulum is -
(1) 1 second (i1) 2 second
(1il) Zero (iv) infinite
(C) How many Watts are there in | horse power -
(i) 746 (ii)y 420
{iii) 980 (iv) 331
(D) The relation in wavelength A, frequency n and wave velocity v is -
® n=va (i) 2=nv
(i) v=n4a (iv) nea=1

(E}) A current of 2.5 ampere flow through a wire on applymng potential difference of 10 volt
across it. The resistance of wire will be —

i) 250 (i) 12.50
(i11) 0.250 (iv) 40
Fif¥aa sadw ge=
(Definite Answer Type Questions)
2. 1 MR | fas UngH s 8 2 1
How many Angstrom are there in | meter ?
3. NG 90 & AW @ oy fafled 1
Write the formula for the value of centripetal force.
4. die’ fa ifres wf¥ & ams & 2 1
"Wati” is the unit of which physical quantity ?
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What is the relation between frequency 1 and time-period T of a wave ?

g1 gfeRIgl R, @ R, @1 AR 4 § Sied 1) god aiwe @ @ ?

What will be equivalent resistance of two resistances R, and R; connected in parallel ?

afa ag sl ues

(Very Short Answer Type Questions)

eIy [PATERAT § NT anaraen § i g 7
What is meant by Stable equilibrium and Unstable equilibrium ?

IR @ gArT | HIE @ QEgaE S A e & 7

How forecasting of weather is done by using barometer ?

T WA B ford e veRr eiReRe Sar & 7

How does hoar frost harmful for cropes ?

50 W0 BIHET A dTel UF I oFa BT & ST R |

Calgulate the power of a convex less having focal length 50 cm,

dega wfade & aRwfa S |

Define Electric Resistance,

oy IO g

(Short Answer Type Questions)

e ) Rl fafiga —

() S AT TONH (@) amifars s
Write note on following -

(a) Coefficient of thermal conductivity . (b) Relative Humidity

Frenfea § s=r Sifvrd -

(@) @eRry SR @ (@) e Ton Rw
Differentiate in following -

ta) Mistand Fog (b) Hailstorm and Snow

SUYE B GEfld A A g 3 @) Rt SR qwn gue g3 ol R |

Define orbital veloeity of a satellite and cscape velocity and write their formula also.

2+2=4

2+2=4

4
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(Long Answer Type Questions)

15. Wae |d 69 d8d € ? o Suge 9d ) wWH aur sy a1 gy av

ST | 6
What are Accumulators ? Describe the construction and working of Lead Accumulator with
diagram.

34T (OR)

foheiare wver ¥ ur wfiwa ] ? 40 91 & 10 Te@ @) 9l 5 U Tremy W 30
fesr & R gfe dga sat @@ &l ? 7 250 oy gfe & =% A 339 Rga ot &
T {eg B ?

What is meant by ‘Kilowatt Hour' ? How many units of electric cnergy will be consumed in 30

days when 10 bulbs of 40 watt each are put on for 5 hours per day ? What will be price of this
clectric energy at the rate of T 2.50 per unit ?

1 1 1 “

16. Mwmﬁmw;+;=?mmﬁaﬁmmumamfm:aﬁg

0, ufefaw <8 Ton wiew g #) 6
_ 1 1 1 . ) o
Derive the formula . + Pl for a spherical mirror, where u, 4 and f are the object distance,
irpage distance and focal distance respectively. http://www.ukboardonline.com
4T (OR)

= @ afaia Hiford — 1/x4=6
(@) IRy T (@) wifds s
() weTer T gIOT (@)  avof faengor
Define the following —
(a) Transversc Wave (b) Critical Angle
(c) Polarisation of Light (d) Dispersion

7. 4R (J2) F AU R P e T FRE DA A § ? H1 & BRY 5AT H B arel
Wfe el &1 S A | 6
What are the factors affecting soil tempgrature ? Mention the physical changes in soil due to heat.

HYQT (OR)
e & Ty Rvas Al a1 Seog SRR 20 freom @ te fve § g0
¥H0 / APUL’ BT TRV I~ ¥ D o ATGD el A T PR |
State Newton’s laws of motion. Calculate the required force to generate acceleration of 980
cim/sec’ in a body of mass 20 kg.
a3 e ool ok
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